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1RY�����6FKRRO�&KRLFH � 3URJUDPD�GH�(OHFFLyQ�
'HF�����/:6'�(TXLW\�(IIRUWV ��/RV�(VIXHU]RV�GH�(TXLGDG�GH�/:'6
-DQ�����2SWLRQV�IRU�WKH���SHULRG�'D\�RSFLRQHV�SDUD�ORV�GLDV�GH���SHULRGRV DQG�

*UDGXDWLRQ�5HTXLUHPHQWV ��UHTXLVLWRV�GH�JUDGXDFLyQ�
)HE�����&ROOHJH�DQG�&DUHHU�5HDGLQHVV ��SUHSDUDFLyQ�SDUD�OD�XQLYHUVLGDG�\�OD�FDUUHUD
0DU�����&XOWXUDO�,QFOXVLRQ�DQG�'LYHUVLW\ ��,QFOXVLyQ�\�'LYHUVLGDG�&XOWXUDO
$SU�����:KDW�WR�([SHFW��7UDQVLWLRQLQJ�6WXGHQWV�WR�0LGGOH�6FKRRO�DQG�+LJK�6FKRRO

4XH�HVSHUDU��OD�WUDQVLFLyQ�GH�HVWXGLDQWHV�GH�6HFXQGDULD�\�3UHSDUDWRULD�
0D\�����6WDWH�/HJLVODWLYH�6HVVLRQ�:UDS�8S ZLWK�RXU�/RFDO�5HSUHVHQWDWLYHV �
&RQFOXVLyQ�GH�OD�VHVLyQ�OHJLVODWLYD�GHO�HVWDGR�FRQ�QXHVWURV�UHSUHVHQWDQWHV�ORFDOHV�

1RWD��7RGDV�ODV�SODWLFDV�VHUiQ�RIUHFLGDV�VROR�HQ�,QJOpV��


